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Ve AL RN

EFRAS R RS
2021 4 8 H
YE& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.003 - 0.311 0.009 &
LA i 1.512 0.001 - 0.453 0.060 =
/L4, (HCI) 4,545 0.044 - 0.152 0.106 =
mIbE (HF) 0.306 0.007 - 0.044 0.020 =
— &b (SO2) 15.147 0.001 - 5.342 1.686 =
—4&bi% (CO) 7.578 0.001 - 0.192 0.052 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.654 - 6.813 1.573 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.006 - 0.017 0.009 &
LA 0.756 0.026 - 0.103 0.060 =
Z/LE (HCI) 0.756 0.080 - 0.126 0.106 s
wAbE (HF) 0.072 0.015 - 0.026 0.020 s
— &b (SO2) 3.789 1.446 - 2.189 1.686 =
—&Ei% (CO) 3.789 0.016 - 0.130 0.052 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.799 - 4.914 1.572 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0014 =
R A 0.0378 <0.0062 &
IR R g ) 7.575 x 10°° <6.988 x 1020 &




Ve AL RN

EFRAS R RS
2021 4 8 H
YK AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(DA 2.277 0.002 - 0.151 0.004 &
LA i 1.512 0.000 - 0.773 0.076 =
/L4, (HCI) 4,545 0.069 - 0.275 0.178 =
mIbE (HF) 0.306 0.004 - 0.056 0.031 =
— &b (SO2) 15.147 0.000 - 3.199 2.142 =
—4& kbR (CO) 7.578 0.006 - 3.843 0.078 =
HELY (NOx)
PL—&/EE (NO2) 30.303 0.688 - 6.858 1.443 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.002 - 0.011 0.004 &
LA 0.756 0.036 - 0.140 0.076 =
Z/LE (HCI) 0.756 0.111 - 0.225 0.178 s
wAbE (HF) 0.072 0.026 - 0.037 0.031 s
&R (SO2) 3.789 1.683 - 2.450 2.143 =
—&Ei% (CO) 3.789 0.037 - 0.200 0.078 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.952 - 2.580 1.448 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0052 &
IR R g ) 7.575 x 107 <5.801 x 1010 =
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EFRAS R RS
2021 4 8 H
Y% BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.001 - 0.100 0.002 &
LA i 1.512 0.042 - 0.438 0.111 =
/L4, (HCI) 4,545 0.070 - 0.301 0.149 =
mIbE (HF) 0.306 0.011 - 0.067 0.032 s
— &b (SO2) 15.147 0.082 - 5.570 1.772 =
—4& kbR (CO) 7.578 0.026 - 0.176 0.091 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.846 - 4.525 1.716 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.001 - 0.004 0.002 &
LA 0.756 0.077 - 0.152 0.111 =
Z/LE (HCI) 0.756 0.109 - 0.199 0.148 s
wAbE (HF) 0.072 0.020 - 0.036 0.032 s
&R (SO2) 3.789 1.401 - 1.928 1.775 =
—&Ei% (CO) 3.789 0.075 - 0.143 0.092 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.088 - 2.693 1.730 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0053 &
IR R g ) 7.575 x 107 <5.981 x 1010 =
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